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Alphabet Questions for CGL Tier 1 & SSC 10+2 
Alphabet Test Quiz 3 
 
Directions: Study the following questions carefully and choose the right answer. 
 
(1) Arrange the following words as per order in the dictionary: 

1. Command    2. Commit    3. Connect    4. Conceive    5. Conduct    6. Commerce 
 

A. 6, 2, 1, 5, 4, 3  B. 6, 1, 2, 4, 5, 3  C. 1, 6, 2, 4, 5, 3 
D. 1, 2, 6, 5, 3, 4  

 
(2) Arrange the following words as per order in the dictionary:  

1. Recollect    2. Remember    3. Report    4. Repeat    5. Repeal 
 

A. 1, 3, 2, 4, 5  B. 3, 2, 1, 4, 5  C. 5, 3, 4, 2, 1  D. 1, 2, 5, 4, 3 
 
(3) Arrange the following words as per order in the dictionary: 

1. Hale    2. Hake    3. Halt    4. Hamlet    5. Ham 
 

A. 2, 1, 3, 5, 4  B. 2, 3, 5, 4, 1  C. 2, 1, 4, 3, 5  D. 1, 3, 5, 2, 4 
 
(4) If the words are organised in reverse order of what they appear in dictionary, which 

word will come in the third place? 
 
A. Occulist  B. Ordeum  C. Odious   D. Odium 

 
(5) Arrange the following words according to dictionary arrangement. 

1. General    2. Gentle    3.Geniality    4.Genuine    5.Genesis 
 

A. 1, ,3, 4, 5, 2  B. 5, 1, 2, 4, 3  C. 1, 5, 3, 2, 4  D. 4, 5, 1, 2, 3 
 
(6). Which of the following words will come at last if they are arranged according to 

English Dictionary? 
A. Indium  B. Infancy  C. Induce  D. Infamy 

 
(7). Arrange the following words according to dictionary arrangement. 

1. Terminal    2. Tender    3. Termagant    4. Tempest 
 

A. 4, 2, 3, 1  B. 2, 4, 3, 1  C. 2, 1, 4, 3  D. 4, 3, 2, 1 
 
 
 



 

 

(8). Directions: Arrange the following words according to dictionary arrangement. 
1. Jasper    2. Japanese    3. January    4. Jasmine    5. Jaguar 
 
A. 5, 3, 4, 2, 1  B. 5, 4, 3, 2, 1  C. 5, 1, 2, 4, 3  D. 5, 3, 2, 4, 1 
 

(9). Arrange the following words according to dictionary arrangement:  
1. Pachyderm    2. Pacific    3. Pacifism    4. Pacification    5. Pacemaker 
 
A. 5, 1, 2, 4, 3  B. 5, 1, 2, 3, 4 C. 5, 1, 4, 3, 2  D. 1, 2, 3, 4, 5 

 
 
(10). Arrange the following words according to dictionary arrangement.  

1. Ringlet    2. Rightful    3. Relieve    4. Rigour 
 
A. 3, 2, 4, 1  B. 4, 2, 3, 1  C. 3, 1, 2, 4  D. 2, 3, 4, 1  

  



 

 

Correct Answers: 
 

1 2 3 4 5 6 7 8 9 10 

C D A C C B A D A A 

 
Explanations: 
 
1. 

 Command  
(1) 

 Commit  
(2) 

 Connect  
(3) 

 Conceive  
(4) 

 Conduct  
(5) 

 Commerce  
(6) 

↓ ↓ ↓ ↓ ↓ ↓ 

   After removing the common letter "Co" from the words    
 

↓ ↓ ↓ ↓ ↓ ↓ 
mmand mmit nnect nceive nduct mmerce 

↓ ↓ ↓ ↓ ↓ ↓ 

                     Now, we can find out the order                       
 

↓ ↓ ↓ ↓ ↓ ↓ 
1st 3rd 6 th 4th 5th 2nd 

So, the order as per the given words is: 1, 6, 2, 4, 5, 3. 

Hence, option C is correct. 

 

2. 

 Recollect  
(1) 

 Remember  
(2) 

 Report  
(3) 

 Repeat  
(4) 

 Repeal  
(5) 

↓ ↓ ↓ ↓ ↓ 

   After removing the common letter "Re" from the words   
 

↓ ↓ ↓ ↓ ↓ 
collect member port peat peal 

↓ ↓ ↓ ↓ ↓ 

                Now, we can find out the order                  
 

↓ ↓ ↓ ↓ ↓ 
1st 2nd 5th 4th 3rd 

 

So, the order as per the given words is: 1, 2, 5, 4, 3. 

Hence, option D is correct. 

3. 

 Hale  
(1) 

 Hake  
(2) 

 Halt  
(3) 

 Hamlet  
(4) 

 Ham  
(5) 

↓ ↓ ↓ ↓ ↓ 



 

 

   After removing the common letter "Ha" from the words   
 

↓ ↓ ↓ ↓ ↓ 
le ke lt mlet m 
↓ ↓ ↓ ↓ ↓ 

                Now, we can find out the order                  
 

↓ ↓ ↓ ↓ ↓ 
2nd 1st 3rd 5th 4th 

 

So, the order as per the given words is:  2, 1, 3, 5, 4. 

Hence, option A is correct. 

 

4. 

Words   Reverse order Places 

Occulist –  Tsilucco 4th 

Ordeum –  Muedro 1st 

Odious –  Suoido 3rd 

Odium –  Muido 2nd 

Hence, option C is correct. 

 

5. 

General(1) → Genesis(5) → Geniality(3) → Gentle(2) → Genuine(4) 

Hence, option C is correct. 

  

6. 

Indium → Induce → Infamy → Infancy Close 

Hence, option B is correct. 

 

 

 

7. 

Words as per the dictionary order are as follows: 

Tempest (4) → Tender (2) → Termagant (3) → Terminal (1) 

Hence, option A is correct. 

 

8. 

Jaguar (5) → January(3) → Japanese(2) → Jasmine(4) → Jasper(1)  

Hence, option D is correct. 

 



 

 

9. 

Pacemaker (5) → Pachyderm (1) → Pacific (2) → Pacification (4) → Pacifism (3) 

Hence, option A is correct. 

  

10. 

Relieve(3) → Rightful(2) → Rigour(4) → Ringlet(1) Hence, option A is correct. 
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